EARAZROREIERT — 2 N—XBISY —F 2012568238 () 6M@E1A&E1H

KM C2—16# C2 ¥5%4mkE B R
[A&4£] 1% :100,000  ~ 2% :23,000 ™  33#%&:9,00M . 437%&:5000MH  53%&:3,000H
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ss 4 | KiEHFER 1:28.7 7-7-6-6 | 41.1| — BIBE (EH)
1 4| VTNV T+— # 56.0 (_8) oo 1 (4_413; REAE
R:FEYRY2Z7 B:I¥LE-—X BELRS
S S 7 | HHAEIK 1:29. —6-7-7 | 41.4| — KHAE (E8)
2 2 a3y —7 # *513.0 (1 19/20) oo ’ (4_550) HEFE .
L:ZF¥ v 2—HYI-IK B:/—-XT7OLF—F Eliztve]
N s B 6 | BEHR 1:29.5 5-5-4-4 |42.8| — 5 392 | LHERE (EH)
3lglg ENVTA—-2 54.0 21/2) (-p) | AR
x4 avFI Ry B:XvXAFTH—- A =
_ N HPEA : 11— — FHAEEAEE (£%)
41111 |FTLZT1T0 AR (11'219/5 N ? ;‘_g ki
RHISNISF— BIARMLY—% BAEKS
e - = # 7 | WTAE 1:29.8 1-2-2-2 | 44.4| — 6 462 | RIEBE (£E)
517|7|7>YI2=7+« ¥¢53.0 (74%) () | HEER
L2V THF— BRI ML H— [N e ]
o 4 AllESR 1:30. 4-4-3 44. = alEYX (58)
6 6| BT AT RIN— E 56.0 (2310/2% e 0 ’ f; EhER .
LEL/INY R BieahhnTd 24 N1 B
‘«.‘_ — 0. 35 0l — WEE ((£8)
7155 | 7%/ Ty KTy 7 o4 56.0 1(13/02)4 MR Ra ! (5:34) 1B .
L:/=)=X> B:Y—Fl—Ta #AR ®E
N o o ANIIE S5y : -8-8- — KIEEK (EE)
8 gl S k=7 i 4 i 1.(320).8 8-8-8-8 | 42.1 4 ?—25) e
R:F4>N—H> b N)— B:FT ELRIEAIPS

® 1 —F—@EBIBfL

13—+— |7,1,56,8,2,4,3

23—+— |1,7,5,6,8,2,4,3

33—+— |1,7,6,8,5,4,2,3

43—5— |1,7,6,8,5,4,2,3

[ F/N=5

B O 4 180 | | 74 K 2-4 200 | | B &= 2-4 540/ | | &R 2-4-8 1,760

7 B 4 160/ 4-8 410 | | & & 4-2 650M | | EE 4-2-8 4,110
2 150 2-8 800
8 2504

ABICOVWTRDTEEERROODE. TR LIV,



